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Pre-Calculus Name:
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Section 5.1 Practice A
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1. Since sin® x + cos?x=1: a)l-sinfx= (o5 b) 1-costx=_gint¥
2. Since 1 + tan? x = sec? x: a)sec’x—1= @;’X b)sec?x—tan?x=__ |
3, Since 1 + cot? x=csc’ x a)csc?x—1= (o % b)esctx—cot? x=_ [

For numbers 4 — 11, simplify.
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For numbers 9 — 14, match the trigonometric identity with one of the expressions:
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For numbers 1 — 7, simplify.
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For numbers 8 — 12, match the trigonometric identity with one of the expressions:

_% 8. sin x sec x S‘;V\X(—L 3
Cos X

w PR Heax |

[CRE.4
O 9.coszx(sec?‘x—1) 5 Gl
ws
3
(oS K (‘f?-,.tx ) / g
10. sec? x cot® x
P BN - 5,
phliin) [
Cos, SAalX f"‘(—
A 11. cotxsecx
‘% PR =y
siae  Co5x T A : J
/seﬁ—:l/’ w g
E 17, === Jetx stn \ |
sinx T -
n 1’( ) (ftx ‘-l-_1’< .
Sin 5 o =
gtx

a)cscx
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